Solution PHCS 102 — TEST-2 1/6/2004
MC - Solutions
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th=2+3+m=109 P:IZR:(%j x2=2W , (for e=10V)

1. 10+10

10)10
2 R~ (10)+(10):5MQ, r=RC , Q=Q,(1-e™"")= 0.64Q,

S.1=1.02167=1.0216 RC =5.108
C(uF)=10.25.(for C=2 uF)

_PL_
3 A=zr2=78%10"m? "= a - 0% 1=05A, (for 01V)

| =Anevy -Vv,=46 uml/s

-8
T:27zm: 6.558 x 10 _ 065 us ’( for B:O.lT)

4. B B

5. R =20[1+0.0045 (1500—-20) |= 1532 ©
| =V /R =120/153.2=0.78 A

6. u=nr’l =0.7851 =0.785 A m?, r =x B =0.157 N.m

Problem 1:

Loopl: -3l3+6l,= 0 I, = 1.42A
Loop2: 6l,+5I,=10 |  1,=0.47A
Currents: I1=1,+ 15 I; = 0.95A

Vg = 5li- (- 20) = +12.9V

Problem 2:
F =j02| (0.2x)dx = 0.8 N




